| &E82-2Q1) |

TS EEAZE (FEH) - HERER

ZF & F
AFEE| ¥ M 5 & E A %
B |5y X ]
YA
BH-HEE N FE I : I
BEDEE 2 2 2 2 2
Bl 2 3 3 3 3
E3 B HIEEE 4 2 2 4 2 2 4
XEEE 4 1 1 2
HHEFEE 4 3 3 6 2 2 4
Hh IR A 2 2 2 2 2
Hh R4 3 3 7 31 0,6 2 2 - 0,4
Hh IR R SR ERRE 2 2 2 2 2
HASER 3 3 1 3 1 0,6 2 - 2 0,4
R BEE 3 3 - 3 0,6 2 2 ] 0,4
NS 2 2 2 2 2
N Rl ®w @ 2 37 0,3
BUA - 125% 2 3] 0,3
= 3 3 3 3 3
= 4 1 3 4 1 3 4
¥ FEI 3 1 5 6
34 2l #HFEA 2 2 2 2 2
¥ B 2 2 2 2 2
% C 2 1 1 1 2 3
ER ™ 6 6 6
YERE R 2 2 2 2 2
S 4 31 4 0,7
[E=F-37 2 2 0,2 2 2
it % 4 2 5 7
. Y ERE 2 2 2 2 2
B2 M=% u [ 3 I o7
Hh 2P E R 2 2- 0,2
ERib™ 2 21| 02
EREm 4 2 2 4
ER 2 271 02
- ® B ~8] 2 2 3 7 2 2 3 7
RERE—F 5 2 1 1 2 1 1
=g I 2 2 7 0,2 27 0,2
= "=w1 (2] 2 02 | 27 02
mroaor |8 4 4 4 4
sy 4 4 4 3 3
B B[ Fooiin | 4 | M
W - RE I 2 2 2 2 2
W - RJ|D 2 2 2 2 2
iR - R 2 3 3 3 3
R RE RELR 2 2 2 2 2
B | BH!I 2 2 2 2 2
REMBIEEDORE | 3~6 1 1 1 3 1 1 1 3
= &t 33 33 33 99 33 33 33 99
R—LIL—LSEH 35 35 35 105 35 35 35 105
Xz\Z%:_ }Eztz;'_
XHRVEBRELICIZETHE
i = VERBE BF | OBIERISRETERET 5.
ERERMEE, ML T QBB SRS TEEET 3,
D2ERBRIE EZEBOBBRICILEEEET S,
KRBT B




